oyl (w5 Qp}TMQh )9 i g0

i.lan:-_’.nﬂ.l;

' ' NN
22 3 : skl ol

Eﬁ? ARIVY Q‘H{ e By
Y s 5
229 \ e oo el gt 5 e e
E::k; $as g i spake iy E{"{;
'“""'3'. 1S el e gl R
38 AR Jl e Jo1 dungudls o 5f (ol )5 5100 330 (59933 39037 wY
S R

[ el ad m (o ddii g g =T (o010 pale 1) (55 9a8 wtiae ]

' e 8 ylandt g 3haed o Jloetal 3lya ylgae
%&%ﬂ ajled O] agled 5l | e 3ad wal slge | s, 999

:_‘t%%q ¥« i T el g agar bl y t&%_q
: ] =
%E{% #a ™ v SighS oo el g e g ol g3l g Sz | ¥ W

T- el I ]

o a3

A Vi wh T eyl fan | B o

o | kL ol sigdnidy oyl | F o
n 439
b 555 )
el b
e )
b ) ITAA Jle ol ags 5]
8 B
b 3] 3

| )
h“t"’"’ I o T i A i i W S S e i e e e e D e e e e e e e T e T T o, g g - - ""\-‘1
B T T o3 iy
B e S a0 s oo dadaasaaasasy
P e 2322 A A A A A A ARSI

Sk




iy (il 515 (390 3T (et Culw g S o

AMWY +dsos juas o) (praasd § gogas) cunnlSl b;

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

11-

12-
13-
14-
15-

The two lawyers - their contract and each opened a separate office.

1) resigned 2) hindered 3) penalized 4) terminated
The police ordered the robbers to their weapons.

1) cease 2) settle 3) surrender 4) collapse

The nation’s economy was largely -————- by foreign aid.

1) imported 2) sustained 3) disposed 4) accompanied

Unfortunately the current law
foreign countries.

any improvement in the country’s trade with

1) impedes 2) compels 3) exposes 4) abstains
They are using that hall to hold their party .

1) juncture 2) convention 3) intersection 4) circumstance
Talking about money now would be a -——-—— from the main purpose of this meeting.
1) digression 2) detention 3) disputation 4) dispersion

There have been calls for the drug’s immediate —--———, following reports that it has
dangerous side effects. '

1} protest 2) discharge 3) disposition 4) suspension

I have not read any of the previous chapters of this book, so you will have to give me a
brief ————--,

1) outlook 2) synopsis 3) panorama 4) prospect
Practical experience is an -=-—-— part of this course.

1) integral 2} adequate 3) accelerated 4) expository
Some of these plants are more --————- to frost damage than others.

1} inherent 2) forthcoming 3) susceptible 4) instrumental

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

We have said earlier that climates are continuously changing. (11) -——-—-- until quite
recently that climates only changed significantly on very long time scales, over tens of
thousands of years. In the more recent past the changes in climate (12) --------— are a result of
mankind’s own activitics. Scientists have been able to reconstruct accurately the average
temperature of the Barth(13) --—--——-- years using millions of individual thermometer readings
(14) ———— —== world. The result seems to suggest that since the end of the 19™ century the Earth
has warmed up by about 0.5°C (1 °F ). The warmest years all occurred in the 1980s. Although it
is not yet known for eertain, (15) ---—m-mmx explanation for this global-scale warming is the

increasing volume of pollutant gases that mankind is releasing into the atmosphere.

L) There thought 2) It was thought

3} 1t has been thought 4) There has been thought

1) we have seen 2 we saw them 3) that have seen 4) that saw them

1) over 100 last 2)across 100 last 3) over the last 100 4) across the last 100
1) of around 2) from around 3) of around the 4) from around the
1) likely most 2) most likely 3) the most likely 4) likely the maost
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[Part.C: Readmg Cnmprehnsmn

| Directions: Read the fﬂﬂﬂwing passage and choose the best choice (1), (2), (3), or (4).

17-

18-

19-

20-

Then mark in On YOur answer .shzsr

Commercial sheep operations supplying meat and wool are usually either "range band flocks"
or "farm flocks". Range band flocks are those with large numbers of sheep (often 1,000 to
1,500 ewes) cared for by a few full-time shepherds. The pasture-which must be of large
acreage to accommodate the greater number of sheep-can either be fenced or open. Range
flocks usually require the shepherds to live with the sheep as they move throughout the
pasture, as well as the use of sheepdogs and means of transport such as horses or motor
vehicles. As range band flocks move within a large area in which it would be difficult to
supply a steady source of grain, almost all subsist on pasture alone. This style of sheep raising
accounts for most of the sheep operations in the U.S., South America, and Australia. Farm
flocks are those that are slightly smaller than range bands, and are kept on a more confined,
fenced pasture land. Farm flocks may also be a secondary priority on a larger farm, such as
by farmers who raise a surplus of crops to finish market lambs on, or those with untillable
land they wish to exploit. However, farm flocks account for many farms focused on sheep as
primary income in the UK. and New Zealand. The farm flock is a common style of flock
management for those who wish to supplement grain feed for meat animals, An important
corollary form of flock management to the aforementioned styles are specialized flocks
raising purebred sheep. Many commercial flocks, especially those producing sheep meat,
utilize cross-bred animals. Breeders raising purebred flocks provide stud stock to these
operations, and often simultaneously work to improve the breed and participate in showing.

It is stated in the passage that ......c.cocevrineennnca

1) open pasture is the most suitable option for farm flocks
2) large numbers of sheep usually formgaange band flocks

3) range flock shepherds cannot live away from their sheep
4) full-time shepherds can care for a maximum of 1000 sheep
The passage mentions that ..

1) range band flocks may be THI;SEd in smal] s:z-.e:d pastures

2) motor vehicles are not allowed in most range band pastures

3) range band flocks have nearly no source for food but pasture

4) sheep raising methods in the US are quite costly but efficient

The passage points to the fact that .........c.........c..

1) flock management styles are supplcm&ntﬂd by gram feed

2) New Zealand and Australia have different sheep raising methods
3) fenced pasture lands.contains rich (though limited) feed for sheep
4) larger farms are only used by farmers who raise a surplus of crops
We may understand from the passage that ..................

1) the sheep in band flocks are often cross-bred

2) sheep dogs are used for transport in large farms

3) purebred sheep producea large amount of meat

4) purebred flocks are raised using cross-bred animals

The word * stud’ in the passage (underlined) in most closely related to ...............
1) *supply’ 2) * flock’ 3) * raise’ 4) * breed’



11-

11-

13-

24-

25-
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The Orloff is a breed of chicken named for the Russian Count Orlov. Reflecting this moniker,

it is sometimes called the Russian Orloffor simply Russian. For most of its history, the Orloff
was considered to be a product of Russia and Orlov, but modern research has discovered that

the breed first appeared in Persia, and was distributed across Europe and Asia by the 17th

century. However, Count Orloff was a key promoter of the breed in the 19th century, and the

breed became known in the West following his efforts. Orloffs were first introduced to
Britain in the 1920s, and were also refined a good deal in Germany; Germans created the first

miniaturized bantam Orloff by 1925. The breed was once included in the American Poultry

Association's breed standard, the Standard of Perfection, but it was removed due a lack of
interest from breeders. In the 21st century, the Orloff remains a rare breed in the West, and it

is officially listed as critically endangered. The Orloff is a tall, well-feathered chicken with a

somewhat game-like appearance. The head and neck are very thickly feathered. They appear

in several recognized colour varieties: Black, White, Spangled, Black-tailed Red, Mahogany,

and Cuckoo. Their plumage, combined with their tiny walnut comb, small earlobes and

minuscule wattles, makes the Orloff a very cold hardy breed. Males generally weigh 3.6 kilos

(8 pounds), and hens weigh 3 kilos (6.5 pounds). Orloffs are primarily suited to meat

production, but hens are reasonable layers of light brown eggs and do not usually go broody.

In general temperament, they are known to be relatively calm birds.

It is stated in the passage that .............

1) the Orloff had not come into being befm‘e the 1'.-"m century
2) people did not use to know about the Orloff’s true origins
3) Orloff is a popular breed of chicken in some areas of Russia
4) Count Orlov domesticated the Persian Orloff in the 19" century
We understand from the passage that the ......c.....ciieiin s
1) Orloff is not used in chicken farms today

2) Bntish Orloff was developed in the 1920s

3) Orloff has never interested the Americans

4) Standard Perfection was first used for Orloffs

The passage mentions that the Orloff ........cc.....

1} has a somewhat thick neck 2) ma}r Icu:rk like a hunting- bird
3} is in a combination of six colours 4).has a comb of walnut colour
The passage points to the fact that the Orloff .......................

1} can make for good fighting birds but are usually quite calm

2) is strong enough to survive unfavorable living conditions

3) lays light brown eggs which are often hatched into chickens

4} 15 used as a decorative bird today though it can be used for its meat

A chicken’s ‘wattles” mentioned in the passage (underlined) .......ocevvvrvemennns
1) grows on its feet 2 sticks from its head

3) develops on its beaks 4) hangs from its throat
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Dexters are classified as a dual-purpose breed; used for milk and beef. However they are
often listed @s, a triple-purpose breed, since they are also uwsed for oxen. Management
practices vary by breeder and by country. Their versatility is one of their greatest assets, and
probably has something to do with the number of countries Dexter residé in. In the UK.,
Dexters are often reared on a purely grass diet to about 3 years of age. However, as a result of
concerns over BSE, the British government introduced legislation effectively banning the sale
and use of animals over 30 months in age. This has meant that in some cases, steers (gelded
male cattle) may need some supplement feeding to "finish" them before the 30 months are up.
An animal that is not properly "finished" tends to not have enough fat on the carcass. Dexters
produce a rich milk, relatively high in butterfat (4%) and the quality of the milk overall is
similar to that of the Jersey. Some claim the milk is more naturally homogenised than other
milk due to the smaller fat globules. Dexters can reasonably be expected to produce 2 to 2.5
gallons (7.6 to 9.5 liters) per day. The cows are exceptionally good mothers, hiding their
calves almost from birth if there is any cover to hide them in. They will produce enough milk
to feed 2-3 calves, and often will willingly rurse calves from other cows. They are known for
easy calving. This trait, along with the small size of the calf, has produced a small but
growing market in the United States for Dexter bulls to breed to first calf heifers among the
larger beef breeds to eliminate problems at parturition.

The passage points to the fact that ........coooovviuunn

1) Dexters are mainly used as oxens in the US

2) dual-purpose breeds can usually be used as oxens

3) BSE is a very common disease with the Dexter breed

4) Dexters serve different purposes in different countries

WWe understand from thr passage that, in the UK, c.ooiiinnnnnnnnn. .

1) cattle sold for meat contain little fat

2) milk is the preferred product for Dexters

3) sale of meat Dexters is effectively banned

4) cattle use food supplements for 30 months

The passage mentions that Dexters. . ..............

1} and the Jersey both produce 4% fat

2) have their milk globules homogenised

3) tend to protect their calf by hiding them

4) produce at least 9.5 liters of milk a day

which of the following about Dexters in NOT TRUE according to the passage?
1) Dexter cows normally feed two to three calves. 3

2) Dexters bulls don't have a big market in the US.

3) They are popular in the US partly for their calf’s size

4) British Dexters are fed only on grass for three years.

The word ° parturition’ in the passage (underlined) is best related to . PR
1) ‘feed’ 2).° growth’ 3} * birth’ 4} quallt:.-'
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